


Test 3-a Varying pulp Consistency using the modified design.
water 4,000 grs. per minute
Stroke 7 mm.
Angle of Tilt 40 25' (varied in order to keep line of

separation between fingers 2 and 3)
Dry feed varied

No. 1 178 grs. per minute
2 235 grs. per minute
3 284 grs. per minute
4 344 grs. per minute
5 440 grs. per minute

Weights:
Cons. Tails. Ratio

1 41 113 1 to 2.8
2 44 124 " " 2.8
3 48 136 ,,- " 2.8
4 63 184 " " 3.0
5 47 147 " " 3.1

Assays: 10 gr. sample
Cons. (-10) Tails. (-10)

1 8.79 1.21 0.75 9.25
2 8.83 1.17 0.78 9.22
3 8.98 1.02 0.87 9.13
4 9.06 0.94 0.96 9.04
5 9.00 1.00 0.96 9.04
Ls. 0.53 9.47

IX



Correcting for Limestone 94.7 (average) per cent soluble
Cons. (wt. of Garnet) Tails. (wt~ Ls,. )

JI

1 10 - 1.21/.947 - 8.72 9.25/.947 - 9.77
2 10 - 1.17/.947 - 8.76 9.22/.947 - 9.73
3 10 - 1.02/.947 - 8.92 9.13/.947 - 9.64
4 10 - 0.92.1:/.94'7- 9.01 9.04/.947 - 9.54
5 10 - 1.00/.947 - 8.94 9.04/.947 - 9.54

Calculation of Efficiency C + T - 100 = Eff.

1 87.2 + 97.7 - 100 = 84.9
2 87.6 + 97.3 - 100 = 83.9
3 89.2 t 96.4.- 100 = 84.6
4 90.1 + 95.4 - 100 = 85.5
5 89.4 + 95.4 - 100 = 84.8

x



Test 3-b Varying Pulp Consistency using the .original design.
water 3,750 grs. per minute
Stroke 7 mm.
Angle of Tilt 50 25' (varied in order to keep line of

separation be~ween fingers 2 and 3)

No. 1
2

3

4

Dry feed varied
526 grs per minute
416 grs. per minute
314 grs. per minute
243 grs. per minute

Weights:
Cons. Tails. Ratio

1 43 135 1 to 3.1
2 53 145 " " 2.7
3 41 91 Tf " 2.22
4 33 75 " " 2.3

Assays: 10 gr. sample
Cons. (-10) Tails. (-10)

1 8.99 1.07 0.98 9.02
2 8.64 1.36 0.95 9.05
3 7.91 2.09 0.72 9.28
4 7.69 2.31 0.70 9.30
Ls. 0.52 9.48

XI



Correcting for Limestone 94.7 (average) per cent soluble.
Cons. (wt. of Garnet) Tails. (wt. LS.)

1 10 - 1.01/.947 - 8.93 9.02/.947 - 9.53
2 10 - 1.36/.947 - 8.56 9.05/.947 - 9.56
3 10 - 2.09/.947 - 7.79 9.28/.947 - 9.78
4 10 - 2.31/.947 - 7.56 9.30/.947 - 9.82

Calculation of Efficiency C + T - 100 = Eff.

1

2

3

4

89.3 + 95.3 - 100 = 84.6
85.6 ~ 95.6 - 100 = 81.2
77.9 + 97.8 - 100 - 75.7
75.6 t 98.2 - 100 = 73.8

XII


